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FORM FOUR CLUSTER KCSE MODEL 4 

ENGLISH PAPE 2 ANSWERS 

of enforceable regulations, does it? Check on comma, the tag must COMPREHENSION 

(20 Marks) 

Read the following passage and answer the questions that follow. 

1. 1. COMPREHENSION 

i. The fears that Federal Trade Commission confirmed according to the first 

paragraph was that 

technology presented serious data security and privacy risks. (2 marks) 

ii. The acronym F.T.C stands for Federal Trade Commission. -Each word must begin 

with a capital 

letter. If not award only 1 mark. 

iii. Risks faced by internet connected devices…or any other appropriate title, 

mentioning 

threats or the appropriate responses or measures that should be taken. 

iv. The word “secure” is written in quotes to show that its ironical or it is an 

irony/opposite/ it was 

not really secure because lack of security practices had exposed its customers to 

privacy 

invasions/ that security had been breached/anyone with the camera. 

v. a) Hackers – a person who spends a lot of time using computers for a hobby 

especially to 

access/look at data without permission. 

b) Institute – to introduce a system, policy etc. or start a process. 

c) Settled, lodged/filed/resolved 

d) Limit, minimize the risks. 

vi. It does not carry the weight 
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start with a small letter and there must be a question mark. Any one missing no 

mark. 

vii. The agency urged companies to institute basic data security measures when they 

develop such 

devices and sensors, rather than an afterthought. 

viii. -Companies should develop new ways to communicate their data collection and 

handling 

practices-even if they market sensors that are too small to contain digital 

information displays for 

consumers. (2 marks) 

ix. According to estimates from Gartner, an information technology, a nonprofit 

group in 

Washington, around 4.9 billion connected items for consumers, enterprises, 

manufacturing and 

utilities will be in use this year. OR according to estimates from Gartner, an 

information 

technology, a nonprofit group in Washington, this year around 4.9 billion connected 

items for 

consumers, enterprises, manufacturing and utilities will be in use. 

x. Companies would be reluctant to adopt the practices recommended because data 

storage costs 

are decreasing and the ability to quickly analyze huge data sets is increasing. 

EXERCERT (25 Marks) 

Read the following excerpt and answer the questions that follow 

2. Excerpt 

(a) Before (2 marks) 

-Tony wakes up with a pain (in his right loin) √ 1 mark 

-After struggling (for about an hour), he wakes up his brother.√1 mark 
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After (2 marks) 

-Weary parents come back home.√1 mark -Nobody dares to ask questions.√1 

-The children are informed that Tony had an operation.√1 

b) The unspeakable could not be added.√1 mark 

c) Cordial- “Aoro was climbing walls with fear and worry”, when Tony is taken to 

hospital. (Award 

after illustration) √2 marks 

d) Elizabeth was always alert in case something happened to her children.√2 marks 

e) Vera is concerned while Becky is undisturbed. Vera admonishes Aoro for not 

informing her of 

Tony’s illness in time while Becky continues to lie in bed. (Contrast must be brought 

out) 

f) Parenting/family- how Mark/Elizabeth handle their sick child. 

g) 

i) Runs away from home. 

ii) Marries secretly. 

iii) Leads a promiscuous life. Any four 1 x 4marks 

iv) Contracts HIV. 

v) Engages her sister in a fight. 

h) His sisters with the death like slumber.. of the young.√1 mark 

i) When he comes from the hospital, nobody dares ask him a question. The children 

look at him 

with round fearful eyes.√2 marks 

j) It inspires Aoro to study medicine and later becomes a surgenon.√2 marks 

k) Becky wanted to know what the ugly boy wanted. √1 mark 

GRAMMAR (15 Marks) 
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(a)Rewrite the following sentences as instructed 

4. GRAMMAR 

A. 

i. He would rather be idle than work for his living. 

ii. Shall we? (small letter, comma and question mark) 

iii. On no account should you leave any question unanswered. 

B. 

i. Iain 

ii. statistical 

iii. unfavorable 

C. 

i. more iii. more expensive 

D. 

i. In front of 

ii. in accordance with 

iii. with regard to 

E. 

i. get over 

ii. used up 

iii. goes with NOTE: The tense of the phrasal verbs MUST conform with that of the 

sentences. 

POEM (20 Marks) 

Read the poem below and answer the questions that follow. 

3. POETRY 
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a) A slave / oppressed worker or employee. Illustration…..has naked sin.. He is 

insulted. 

b) His heart (the slave’s) is more wounded than ground he tills. 

-He is insulted. 

-The ground he is ploughing was the battle field. 

-The war has ended. 

c) Unpredictable/pretentious 

d) Use of paradox/oxymoron…surly patience/naked skin clothed. 

Personification-patient hooves, wounds the plain. 

Use of rhymes- mist-somnambulist, hooves-grooves. 

Plain-rain, torn-corn, divides-strides etc. (Any two devices- identification 1 mark 

illustration 1 mark 

e) The tone is sympathetic/piteous Illustration; naked skin Emotional- 

hurt/wounded by the insult 

Optimistic tone…I see in the slow progress of his stride. 

f) Suffering/oppression The mistreatment of the slave…naked, insulted Correct 

identification- 2 

marks, illustration – 1 mark. 

g) 

i) State condition 

ii) Damaged/ruined 

(iii) Irritating 
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